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which of the following is considered a post-streptocaccal sequela, occurring .-,

an untreated Group A Streptococcal infection 2
(A) Pharyngitis (B) Acute Rheumatic Fever

(C) Impetigo (D) Cellulitis

wiaR2AE U AU 20 By i 3 2

-
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(C) 14 (D) 20 = = 9.

Who is primarily liable to pay property tax if premises are leased from the Corpo-

ration?

(A) The tenant (B)  The superior landlord

(C) The occupier (D) The local officer

Give the plural form of "mouse” (in the context of an animal)

(A) mousis (B) mouses

(€) mices (D) mice

Which hormone is pPrimarily responsible for regulating mineral levels in the body ?

(A) Aldosterone (B) Testosterone

(C) Progesterone (D) Estrogen
Which of the following is a live attenuated vaccine ?
(A) Rabies vaccine _(E) Diphtheria toxoid
(C) BCG vaccine (D) Tetanus toxoid

What happens when a building is declared unfit and no satisfactory undertaking is
given?

(A) The Corporation auctions it

_(lB) Commissioner can order demolition with Standing Committee approval

(C) It is handed over to the nearest ward

(D) Rent is increased for its continued use
[3] P.T.0.



g serum Cgmponent is an indicator of Post i
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which of the followin - |
sequent immunity to hepatitis B-viral infection tion, " |
(A) HBSAd (B) Anti HBg u,
(E) HBC Ag | (D) Anti HBc
10. What is‘ P formula for calculating betterment charge .
development scheme? : | . qearance/re‘
(A) Total cost of redeveIOpment divided by built-up areg
(-E;) One-half of increasé in value after scheme COMpletjq .
(C) Fixed 10% on assessed property value
(D) Market rate of nearby land
11, "widd" Aoe<dl el 2°¢ SO 7?
(A) wad (B) uadl
(C) s | (_D_) Wby

, I
12. il AR qaietal 324l ol 487

Il 209 B 7 |

(A) 12,82,000

() 11,72,000
13, il uBu afefl wan WG S8

(B) =isy

(A) ARl
(D) Q*ll‘i\lo‘x.l A

(C) SgfHiRe
Which type of microtome 12 MOSt commonly used for sectioning fi
Ing formalin-fixed

1 |l
araffin-embedded (FFPE) tissue blocks in histobatholog labs
= y a ?

(A) Cryostat =
(B) Base sledge microtome

(C) Rotary microtome
By which method is reducing sugar in urine/stool tested manually?
. Y?

(D)  Sliding microtome

15.
(A) Fouchet's method (B) Ehrlich's reagent method

(C) Benedict's method
wRsq 2o a4l sl G Gora 8 27

(D) - Sulphosalicylic acid method

16.
(B) 25 an~pudl

(A) 24 .mrgmil

(C) 26 il
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17.

18.

19,

20.

2.

23.

In the absence of final budget approval by March 31, what becomes the default

budget?
(A) Last year's budget

(B) Estimates of Standing/Transport Committee
(C) Emergency budget sanctioned by Mayor

(D) Finance Minister’s estimate

Which of the following hormones stimulates osteoclast activity and promotes bone

resorption?
(A) Calcitonin
(C) Parathyroid hormone (PTH)

Give the synonym of "Contemplate”
(A) Meditate

(C) Condemn

(B) Estrogen
(D) Thyroxine

(B) Menuplate
(D) None of the given

What is the primary function of hemoglobin in the human body ?

(A) Prevent blood loss by promoting clot formation

(B) Help the immune system fight infections

(€) Transport oxygen from the lungs to body tissues

(D) Support blood coagulation during prolonged bleeding
Which of the following biochemical tests is specifically used to detect the pres-

ence of glucose in urine ?
(A) Heat test
(C) Fouchet's test

[ w2 214) 565 2 2B sisaiia § 2

(B) Benedict's test
(D) Hay's test

(A) el (B) G

(C) A (D) geelia

What is the pH of the buffered distilled water used in Leishman'’s staining ?
@) 6.8 (B) 7.2

(C) 7.4 (D) 8
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24. Under what condition can the Commissioner bypass Standing Committee approy.

al and take action?
(A) With verbal permission of Mayor

(B) In case of policy decision
(_C) In emergencies requiring immediate public safety measures

(D) For budgetary reallocations _
25. 21202541 sRuwg- sRelotte Breaidi T2anil "yonss AidAB Redsal Al" Aol ¢dl 2
(A) 343 : (B) 374
(C) 35 ' (D) 384l
26. Which of the fbuowing diseases are caused by viruses that primarily affect the
nervous system?
i) Poliomyelitis ii) Influenza iii) Bronchial pneumonia iv) Rabies
(A) iandii (B) i and iii
(C) iandiv (D) iand iii

27. U9 ofoslqqn] s S quad B ?
(A) 51614 {idissSs

(©) [elioyq

28. What is the lifespan of a normal red blood cell (RBC) ?
(B) 102 days

(D) 120 days

(B)  si6i sulisuss
(D) Hziex

(A) 112 days

(C) 90 days:
Minimum hemoglobin (Hb) concentration required for blood donation is :

29.
(A) 12.5 gmydi (B) 11.0 gm/dl
(C) 13.5 gmydl (D) 13.0 gm/dl

.30. The primary function of which cells is the development of \;arious defense mecha-
nisms and repair processes ?
(A) Thrombbcytes (E) Leu-kocytes
(C) Erythrocytes (D) - Reticulocytes

31. Which of the following is an example of a neurot'ransmitter ?
(A) Insulin . LB) Noradrenaline.
(C) Cholesterol (D) Bile

[6]
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Which of the following are causes of Pathological polyuria ?

32.
i) Increase fluld intake ii) Diabetes mellitus
jii) Diabetes insipidus V) High protein diet
(A) l and ! ' | (B) iand i
(©) nar;d : e ¢ (D) i and iij
33. Which of the To Umor markers is prim
arily used f i
P - or the d?tectlon and
(A) CEA _ (B) Psa |
(C) AFP (©) CA-125
i Bl #3e 3 gue 1 BB, wiq wa aved) Gl ), s (g Ay R4 Gy
- ALY, w3 U5 52l
A=l B. oAl dd AL sHUI suaqqmt 2, dl G 5o wey e
“31\\ \gen
(A) zua (B) My +\ =0
ST E
(©) (D) Rl 2y 3,
35. Hemolytic disease of the newborn (HDN d :
se o] . ) due to Rh ‘Ncompatibility can be pre-
vented by administering anti-D antibody to an Rh
~Negative mother within how
many hours after the delivery of an Rh- ~POsitive infant ?
(A) 24 hours
(B) 36 hours
Eg) _\48 hourf‘f o (D) 72 hours
36. st ¥ UoR 52dl Gﬂm A2l ©. R0 ok 824 Guan ) B, B{l&zmim 5l GuML {2l B, u3,
ellz s2di GHRHUAUALS. dl AlAmisl) S el Al €3 7 \ |
(nﬂ’- v ¢
(A) [ile: (B) e
(C) weilR (D) ¥
37. AR oAl sAdl -
(1) Generous “ (@) Cruel
(2) Humble (b) Stingy
(3) Victory (c) Proud
(4) Kind © 7 (d) Defeat
(A) l_d' 2—3, .3..b' 4-(: - ¥ (B) 1-C, 2"'b, 3"d, 4‘a
(C) 1-a,2-d,3-b,4c (D) 1b,2-¢,3-d, 4-a
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38.
(A) [AEa (B) Rusyq _ |
(C) [mdla (D) Ry ‘
i ndition are microcytic and h .
35 Im WIED &2 YPochromic RBCs Seen on a Periphera|
blood smear ? |
egaloblastic anemia B :
ol fici nemia 5) Hemolytic anemia
C) Iron deficiency a 5 |
o i Hereditary spherocytosgis

Which of the following lymphocytes are Primarily reg
Ponsible for antibod
Y Prodyc.

40.
tion in the immune system ?
(A) A lymphocytes CH i tiree (B) B lymphocytes
(C) Clymphocytes (®) b lvmphoc\}tes
41. Give a single word for: "A person who helps the poor and downtrodden®
(A) Traitor (B)  Plaintiff
(C) Patriot (D) Philanthropist

42. Find the appropriate option for the underlined part:
He was reared by his uncle and aunt.

(E) grown by -,
(D) back-viewed :

(A) brought up

(C) grew up
43. Which test does NOT measure glomerular filtration ?
(A) Osmolality of Serum ; - (B) Creatine

(C) Amino Acids (D) Creatinine

44. Under what condition can the State Government suspend action under the GPMC

Act?
(A) If the Corporation fails to approve annual budget

E .

(B) If a resolution is passed without quorum
(C) If execution of resolution causes public annoyance or exceeds power

(D) If councillors resign en masse

What increases in myocardial infarction (heart attack)?

45,
4.5 (B) Troponin

(A) Urea - -

(C) Uric acid e (D) Bilirubin oo
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48.

46.

47.

- 49.

e
51.
52.

' 53.

54,

- 2t Mo 24 Deat 251l Aeatoiedl sl w0, dL QA ol oAl vy g diin
of :

(A) 921 b ' ; (B) 476

(©) 642 (®) 129

what is the depth of the Improved Neubauer counting chamber ?
() 9-1mm (B) 0.01 mm

(C) 0.001 mm B e

naq S oAl (et afls $4L Ray Goyat B 7

(A) 3ud (B) 4wd

© 1ud ' (©) 2w

Which of the following is an extra-chromosomal, autonomously replicating genet
etic

ment found in bacteria ?

ele
(A) Phasmid ' (B) Cosmid .
E) Plasmid " (D) Phagemid

Which is the best method for estimation of hemoglobin ?

(A) Aldine hematin method E_B_) Cvanmethemogtobin method -

li's method .
() =alt (D) Specific gravity method

At AR €9 A5 usRA WG B 2

(A) upulsrs

(B) adlaal
(C) sesla (D)  usdly
From where will you collect the blood for ABG?
(A) Artery (B) Vein
(C) CVP line (D) Capillary

Which one of the following fungi is the most serious threat in a bone marrow
transplant unit?

(A) Blastomyces _ (B) Cryptococcus

{S) Candida albicans (D) Aspergillus

Bacillus is an example of : .

(A) Virus - rallil (B) Gram-negative bacteria
E_(_:_) Gram-positive bacteria’ (D) Viroid

i _
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55. s alo sl Adell Al sells-L 2iA 5 B2, ollot sells-l viR 10 Gul2, =flon seus- i 4 5 G0y .
2y w5 Qzruieont uedl A B, dl AR 6 ARd el Teal aat il ? u3e "
(A) 15:15 (B) 5:30
(C) 6:00 (D) 6:30

56.

57.

58.

59.

60.

C(A) wsug st

Curschmann's spirals are characteristically seen in which of the following cong
i

tions ?

(A) Bronchiectasis (B)  Bronchial asthma

(C) Chronic bronchitis (D)  Wegener's granulomatosis
ol 34 238 dl A a8 orAL" - AL W12 SrRuAl. .
(B) (aeasi ausy
(© [A3e- s (D)  Gifaus iy ‘
Which of the following disqualifies a person from being elected as Councill

or un-

der Section 10?
(A) Default in tax payment beyond 3 months after Notice

(B) Married to government servant
(C) Below age of 30

(—E)) Resides outside Gujarat

e US54 olsg VIS © ?

(A) flda - siZRia

(C) uslUs - 22zl

Which method is commonly used for the estimation of creatlmne in CIInICal labo-

(B) [=y2dl - S2dloy
(D) 2aughis - S-ayelld

ratories ?

(A) GOD-POD method (B) Biuret method

(C) Uricase method ' (D) Modified Jaffe’s method

Enzymes are chemically :
(B) Lipids

Q) Proteins
(D)_‘ None of the given

(C) Carbohydrates
Which enzyme increases in acute pancreatitis?

(A) Trypsin (B) Acid phosphatase

(C) Urease (D) Amylase -
-
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63.

64.

65.

66.

67.

68.

69.

70.

psammoma bodles are most commonly seen
(A) Serous cystadenocarcinoma of the ovary 9 tumors ?
(B) Follicular carcinoma of the Whyrord

(€) nvasive ductal carcinoma of the o

(5) Adenocarcinoma of the stomach

An increased neutrophil count in the periphera Bt o

ed with which of the following conditions ? st com
(A) Allergy

(C) Parasitic infection

The motile bacteria is :

(B)  Viral infection
L) Bacteria) infection

(A) Klebsiella pneumoniae
G

n .
(C) Shigella flexneri ella typh;

(D)  Bacil
- us .
Which authority finalizes the betterment ch anthracis

a

(A) Standing Committee S Ak casg o diSaQI'Eement?
(B) Municipal Commissioner

(C) High Court

(D) Tribunal constituted under Section 284-0

"2eAA" yoed sUl AL QR D ?

(A) A

B)
(C) Su+=2il : e

_ st (D) @
What is the prqtem_ portion of an enzyme called 2

A) Co- '
(A) o.factor (B) Bbsinayiog
(C) Coenzyme

(D) Prosthetic group

According to the GPMC Act, the Transport Manager ma

. , Y act in an emergency:
(A) With Mayor’s consent only el

(B) After consulting Corporation

(C) Without budget provision if needed for public safety
(D) Only after consulting Standing Committee

A homogeneous mixture of a sol_ute and a solvent is called :

(A)- Electrolyte \ (B) Emulsion

(C) Suspension (D) Solution
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73.

74.

75.

76.
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N 2 " " n = _
5165 Alss S8 AL NOISE" 4 5914151 9 Adls @i wsuA B, A 6y ML "DORM ANT" -
N v “ E'il

dd @vudl ? -
(A) 141314151820 (B) 141314151922
(C) 182614151820 (D) 141317151920

NITI (National Institution for Transforming India) 2uaiat (AN 3-wmisl] 54 [QH By ¢
)

1. 1 2ypuil 20168 vilisr WAl 21 d-dl 23viid s2umi 2udl wdl,

-

2. d Joiuzelly sRisudl Azl 8.
3. Al Guituat dIElH] 331 GURA-AL AL U B,

4. [ vl GuiEas wid CEO-L [3@as ®ld-AL AU g2l s2ami »ud 8.

Gusd [[ds- wrell 4ion [Qseu yis 52U

(A) 3542243 (B) ssd1=43

(C) §3 (D) 442

Select the single word for the following phrase:

"One who does not believe in existence of God"

(A) Swindler (B) Theist

(C) Atheist (D) Hermit

Which of the following is a sulfur-containing amino acid ?

(A) Cysteine (B) Alanine
(D) Valine

(C) Glycine
When WBC count is below the normal range, it is called :

(A) Neutrophilia (B) Leucocytosis

(C) Leucopenia (D) Lymphocytosis
U Usl 4l [Asey L 8 ?

(A) Ad: + 65y = AdGler (B) [ +eiu=[agn
(C) U+ 2+ -l = WUl (D) GURLsd A AL .
"1l W2 srldl A" - 5AR A sidl.

(A) & VidR o¥% &l . (é) § ViR sy e,
(C) il vid2 sy <lls. (D) el WAz span,,
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following best descripeg the r
the

ch of . anemia ?
mi

whi s ;
3

thOChcv is increase

M

(A)

(8)

-

(©)

(D) t-bearing structures of bacterig oS
gment-
Pigme ria
(A) Mitochond (®)  Mesosomeg
(C) Plasmldsfouowing statements is trye "egarding m
o e :
50- Which of th ossess different types of heavy chai
hey p
(A) T

d by multiple clones of Plasmg cells
e produce

B) They ar

(/) epitopes

They contain different types of |j
© They are produced by a single c|
® ture and antigen Specificity

€d blogg Cell indiceg seen in microcytic
78"

mains within the Normal reference fange
cv re

Mcv is decreased

M

CHC is increased
M

(8)
79-

Chramophures

onocional antibodies ?
ns for €nha

Nced diversity

and recognize Multip|e
ght Chaing toj rove antigen recognition
one of Plasmga Cells ang ape ;
519 5% G0 A" sl 5Ll Gulo gy AL
l|5,l . -

81

?
(A) Baulaame

(B) Raug
(©) = _ D) Gy
g2. Bl Ml eiel) ol Ry M ] 15\[3\[312 YWl flyrd) 3 R 08 1 40 4, Wiy
oAl 82ell ot 228 A 10 EIRERTER Wl Gy q, B Al g g a4 g
§dl ? c ‘
(A) 08:45 (B) 08: 25
(C) 08: 15 - | (D) 08:1g
83. One who has lost hig Wife is calleg ..., e,
(A) widower - (B)  window
(C) vidow | | (D) husbang
84. rfﬁt[‘eqa" ATHL 84 ey 336 § 2 c A
q - LI_?._) AU [ yayepy ,
(A; w‘?"ﬂq ' (D) 2irlq W4 YR A
(C) wuey
85.

|
i ?
Antiseptic methods were first mt_roduced by?

| (B) Edward |
(A) Iwanowsky

. X - (D) Lord Lister
(C) Beijerinck

= PT.0.
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86. Tinea capitis is :
(A) Ringworm of the foot
(B) Ringworm of non-hairy skin of body

(C) Ringworm of the scalp

(D) Both (A) & (C)
AlRAL 28I UHES AR ALEAL A A 20 U5 W ?

87.

1. Series , 2. Serious, 3. S‘_%)rein . 4 %ﬁal . S. Serried
e (A) Serious (B) Serein

(C) Series (D) Serial

88. Which is the most common type of lung cancer in women and non-smokers >
(A) Small cell carcinoma (B) Large cell carcinoma |
(C) Squamous cell carcinoma (D) Adenocarcinoma

89. B-;nce Jones proteins in urine are :
(A) Whole immunoglobulin in urine
(B) Fab fragment of immunoglobulin in serum
(C) Fc fragment of immunoglobulin in serum
(D) Monoclonal light chain in urine

90. i:r:t;m the below Statement, Find the word/word group with similar meaning of
"flourished".
Mr. Ramesh Patel works hard. His business has flourished in these years.
(A) Vanished (B) Built
(C) Finished (B) Prospered

91. o [wildl vis udlewni cidet 120 [Qene{lll Wl 55 Qeue{loil Rsiqni, 60 [Renellpl aARidui x93 23
(Qeaefloil oi [Quani wit wa 8, dl s2al ([Qenellil ojd [@uani 4w S ?
(A) 130 © (B) 37
(C) 197 (D) 27

92. Which of the following tests is specifically used to assess immunity or susceptibil}

ty to dipht'heria toxin ?
(A) Dick test (B) Blood culture :
(C) Widal test

.ab_Technician\2025\A

(D) ‘Schick test
[14]



) Suhcutaneuus

(D) Intramuscu\ar

-------------------------

we ™
(B) shan
SE) Would
LGHLD. D, Al 30D e g, RARD WA i g st «

AB AL LD, W C 3 B
' aBRge? C®) A

(A) C g (D) B

(© b 4 LoD, wiowas g o - o

s o 22l WA HE €2 40 Bilfizag mt ; ‘i: RIS 193 ey YRS 1 Bz w3y o
96. o Alsoll $3 ol oy 3qB 09 - 45 AR Alsng q, Wyzsg s 4 Wy W\ MR g WA 2y 1>

(A) ¥R 8:55a . (8) AR g 15 0y

(C) ¥UR9:05awy

(D) HRY: 354,
7. Comma-shaped bacteria are known as .
R 9%

(A) Streptococci

(8) Staphylocgeg
(C) Vibrio - - (0) Bacillys
98. :[{i‘: IR CICTE T { I a;u»r-.ri‘} seddl us SR,
"Wl 281 AR W sl
(A) addgiq (B) i
EE) g (D) e g4
99. This fatal disorder results frg

m clot/thrombus formation in the blood circulation :
(A) Thromboembolism

(B) DvT (Deep Vein Thrombosls)

(C) Pulmonary embolism (D) Al of the given
100. Which bddy assumes al| municipal powers

after dissolution of the Corporation?
(A) The Governor of Gujarat

(_[3_) Municipa| Secretary

(C) Persons appointed by the State Government
(D) High Court administrators
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